LABJNDuO triangle lightnesst*
Ync YW nc_loox

t*LABINDU9 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, )
1 (3.6)=348 1* ,(18)=791 t*, (90)=1231
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tristimulus value difference
Yoc=Yw - nc=100,
L ABINDU9=[IN[(A 10+A2nY)V/(A 20A 0n)] (Ya/100<Y<=Y,)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
dYg=0,35, Ay=1,500, G=0,42

dY;5=0.09, A1=0.017, Agn 0,0024
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S=(AY/Y)

LABJINDu9
tristimulus value sensitivity
Yoc=Yw - nc=100,

L aBINDU9 =[IN[(A 1 +A2)I/(A 2nA0n)] (Yao/100<Y<=Y,0)
AYIY=Ag A1 +AZYVY
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(dY/Y%S—O 2630, A,=0,017, Ag

0, O
(dY/Y} ¢=0,0007 y,=12 AY=0,0

application
range

=18
Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDu9
tristimulus value contrast
Yac=Yw - nc=100,

L aABINDU9 =[IN[(A 1r+A2V)I/(A 2nA0n)] (Yo 100<Y<=Y,0)
YIAY=Y/[A on(A 1n+AY)]
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LABJINDu9 relative triangle lightnesst*/t*,,
Ync‘YW nc_loox

t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t(3,6)=348 t*,(18)=791 " (90)=1231

U y=1.85. Ax=1.500, £=0.42

{19 =100, Ar=0,017. £,=0,0024

3. gt*=0,43,th=791,01 Y1

log[t*/t* ,]=0, m,=0,33
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tristimulus value difference

Yoc=Yw - nc=100,

t*LagaNDug =[IN[A 1n+A2nV)I/(A 20A0n)] (Yo 100<Y<=Y, )

AY/dY,=AgnA 11+AanYI/dY,
dYeo/dY,=3,88, Ay=1,500, ¢=0,4
dY,gdY,~ =0,
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deQdY o4z\¢1 =18 dY= 82,

-
t*,=791 dY,=0,09 dY,/% ;=0 7050 ¢ %
3

application
range

1v,=18
Y=90

Yn=3.6

log [AYY) I (AYIY),]
SSu=AYN)AYY),
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tistimulus value sensitivity

Yoc=Yw -~ nc=100,

t*LagaNDug =[IN[A 1n+A2nV)I(A 20A0n)] (Yno/100<Y<=Y, )

(AY/YYAY /Y =(A A Y)Y (AY/Y),]
(dY/Yo/(dY/Y 4=0,77. Ay=1,500,

(dY/Y)g(dY/IY
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log[(dY/YY(dY/Y),]=0, mu——O e
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CICy=(YIAY)(YIAY), El(snn;t\;\l/us value contrast
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t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)

(VY Y(YIAY ) =Y IYIAY )T oA g Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,28, Ay=1,500, ¢=0,42

(Y/dYYg/(Y/dY)=1,00, A=0,017, A=0,0024
(Y/dY%vd(Y/dY =0,47 Y,=18, dY=0,09
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o 1 application
. 1 range
1y,=18
Yw=90

'rN=3,G‘




